(10) w7 AT Bl # & B &8

BN A BIAE10 A 1 H 249 H30H FT
X gy |t | A | ds X gy | FREEE | i A E | i
B =
T~ 2]

SRR 13 4R 4,970 178,140 173,170 ® {7 & T A 102 735 837

14 A 980 172,492 173,472\ 7 H ET A 22 339 361
15 1,941 174,279 172,338( mg {7+ & HT A 21 347 368
16 2,112 173,560 171,448| #% & HT A 38 240 278
17 4,664 173,977 169,313 74 {7+ o HT A 108 373 481

G2 i A 1,214 29,712 23,926 & HT 27 1,981 1,954
IS /N 7] 3,581 38,439 34,858
W\ A 533 9,444 9,977\ & Ak T 109 2,198 2,089
E T ] 80 2,326 2,246 £ R HT 315 2,847 2,532
= & M 616 6,282 5,666| /)N (L WY A 169 1,338 1,507
= =] 25 4,411 4,386 = Il HT A 51 277 328
gt R T 189 3,230 3,041
s I 238 3,604 3,366| & 4 )I| BT A 22 653 675
g5 + A 484 8,589 9,073|| 7 R HT A 56 407 463
2 B W 709 8,876 8,167| H . T A 124 208 332
BE o A 226 4,740 4,966 [ oA A 41 423 464
#/ o omh 898 7,092 6,194) X )1l BT A 71 1,079 1,150
Bk T A 36 5,396 5,432
1 T 312 5,982 5,670 ¥ B HT A 38 1,429 1,467
WA W 737 5,571 4,834[ #& 5 HT 60 1,366 1,306

&= B OET 168 1,729 1,561

T W o A 60 1,150 L2100 Jil 4R HT A 58 123 181
5 B o A 248 3,148 3,396 JI 4R A HT A 88 238 326
W h 434 3,555 3,121
EI = ) A 186 1,369 1,555| #& Wy A 21 646 667
AT IR T A 98 2,118 2,216
) T 324 3,212 2,888 #r JE HT A 155 1,048 1,203
F o oE T 112 2,707 2,595
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